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Accounting For Working Capital Decisions
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ENGLISH VERSION

Instructions : (1) Figures to the right side indicate marks.

(2) Show necessary calculations as a part of answer.

1 From the following information of Nilkanth Company 20

Ltd., estimate the working capital needed to finance a level
of activity of 90,000 units of production per annum :

Particulars Cost per unit )
Raw materials.........ccooooiiiiii 80
Direct 1abour ..........ueeeeeiiiiii e 30
Overheads (except depreciation

R 10 POTr UNIE covvneiiiiiie e 60
TOtAL COSE e 170
Profit oo 30
Selling PriCe ......coeiiiiiiiieiiiiiiee e 200

Additional Information :
(1) Average raw material in stock : 1 month.

(2) Work in progress (assume 50% completion stage in
respect of conversion costs and 100% completion in

respect of material) average % month.

(3) Average finished goods in stock : 1 month.

(4) Credit allowed by suppliers : Average 1 month and to
debtors : 2 months.

(5) Time lag in payment of wages : % month.

(6) Overhead expenses : 1 month.

(7) Cash balance i1s expected to be I 80,000.

(8) Keep 10% for contingency margin.

You may assume that production is carried on evenly

throughout the year and wages and overhead expenses
accrue similarly. All sales are on credit basis only.

OR
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1 Swaminarayan food products presently producing 54,000 20

units at 60% capacity. Company wants to increase 33%%

in production for the next year. It provides the following

information :

Particulars Cost per unit )
Raw materials ..o 4.00
WAZES ..o 2.00
Overhead (variable) .......cccoooviiiiieeiiiiiieeeieeeeeeeeeee, 2.00
Overhead (fixed) ......oovviiiiiiiiiiieee e, 1.00
TOtal COSE ..t 9.00
Profit cooooe e 3.00
Selling PriCe ......coeiiiiiiieeiiiiiieeeeeeeeee e 12.00

Additional Information :

(1) Average raw material in stock : 1 month.
(2) Work in progress average 1 month.

(3) Credit received from suppliers : 3 months.
(4) Average finished goods in stock : 1 month.
(5) Credit allowed to debtors : 2 months.

(6) Time lag for the payment of wages and overhead :
1 month. It may be assumed that wages and overhead

accrue evenly throughout the production cycle.
(7) No change in present cost and selling price.
(8) Required minimum cash balance is ¥ 70,000.

From the above information calculate required working

capital for the next year.
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2  You are required to prepare a cash budget on quarterly 20

basis from the following details of the calendar year, 2021

of Prakruti Ltd. :

Particulars Quarters
15t ) 2nd () 3rd () 4th ()
Sales :
Cash 10,000 12,000 8,000 15,000
Credit 2,00,000 1,75,000 1,00,000 | 1,95,000
2,10,000 1,87,000 1,08,000 | 2,10,000
Variable Costs :
Material consumed | 1,50,000 1,25,000 1,00,000 | 1,75,000
Operating expenses 10,000 10,000 15,000 15,000
1,60,000 1,35,000 1,15,000 | 1,90,000
Fixed expenses 15,000 15,000 15,000 15,000
Total costs 1,75,000 1,50,000 1,30,000 | 2,05,000
Profit / Loss 35,000 37,000 — 22,000 5,000
Balance at the end of quarter :
Particulars Quarters
15t }) 2nd }) grd @) | 4th 3)
Debtors 1,00,000 1,00,000 80,000 | 1,00,000
Stock (Raw material)| 75,000 60,000 75,000 75,000
Creditors 40,000 40,000 40,000 30,000

Balance in the beginning of 1St quarter :

Debtors T 90,000, Stock of Raw material ¥ 70,000, Creditors
3 30,000, Bank Overdraft ¥ 10,000.
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Other Information :

(1)
2)

3

Purchase of Machinery ¥ 60,000 in June.

Payment of dividend (previous year) ¥ 15,000 in
January.

Fixed costs include depreciation amounting to I 10,000

per quarter.

(4) Long-term loan taken I 10,000 to finance purchase of
machinery.
(5) Expenses of a quarter are payable within the quarter.
OR

2 Roshni Ltd. is providing following information : 20
Month Sales | Purchases Wages Other Exp.
February 60,000 42,000 5,000 3,500
March 65,000 50,000 6,000 4,000
April 40,000 52,000 4,000 3,000
May 58,000 53,000 5,400 6,000
June 44,000 40,000 4,000 3,000

Additional Information :

(1)

2)
®3)
(4)
(5)

(6)
(7)

Sales : 20% in cash sales. Cash discount allowed 2%
on cash sales. Remaining amount will be received in

next two months in equal installment.

Purchases : Credit allowed by Creditors is 1 month.
Wages : 25% wages 1s payable in next month.
Other expenses : Other exp. is payable in next month.

Rent : Monthly ¥ 1,000 is payable in quarterly base

in advanced. (January, April, ....)
Income tax : ¥ 7,000 is payable in June.

On 01-04-2021 cash balance i1s ¥ 30,000.

From the above information prepare a cash budget for three
month April to June 2021.
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"2/10, net 30" is the present credit term of welldone

Ltd. Its present level of sales are ¥ 6,00,000, with an
average collection period of 30 days. The contribution
margin ratio i1s 15%. Currently 1% customers are taking
discount on sales. Bad debts 1s ¥ 12,000. The Company's
cost of capital is 10%. Now the company is considering to
increase the discount term to "4/10, net 30", which is
expected to push up sales to I 6,50,000 and reduces the
average collection period by 10 days. Such relaxation
increases the proportion of discount sales to 2%. New bad
debt would be ¥ 14,000. Tax rate is 40%. Give the proper
advice to the company.

OR
In order to increase sales from the normal level of

3 2,40,000 p.a., the marketing management submits a
proposal for liberalizing credit policy as under :

15

15

Alternative Proposed Increase in Relevant Increase

Credit Period beyond over Normal

Normal Credit Days Sales (R)

= W N -

15 days 12,000
30 days 18,000
45 days 21,000
60 days 24,000

When Normal Sales 1s ¥ 2,40,000 and Normal Credit Period
1s 30 days, 360 days in a year. The P.V. Ratio of the company

18 33%%. The Company expects a pre-tax return of 20%

on investment. Evaluate the above four alternatives and
advice the management.

Perfect Ltd. provides the following information :
—  Maximum consumption daily 30 units

—  Minimum consumption daily 20 units

- Normal consumption daily 25 units

—  Maximum delivered period 45 units

—  Average delivered period 35 days

15
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—  Maximum delivered period for emergency purchase
5 days

—  Annual consumptions 22,500 units

- Cost per unit ¥ 20

—  Expenses placing an order ¥ 100

- Carrying expense 25%

Calculate :

(1) Economic Order Quantity

(2) Ordering level

(3) Minimum level

(4) Maximum level

(5) Safety level

(6) Danger level

(7) Average level (with both the formula)
OR

4 Siddhi Ltd. uses inventory turnover as one of the 15

performance measures to evaluate its Production Manager.
Currently its inventory turnover (Cost of Sales + Average
Inventory) is 10 times per annum as compared with the
industry average of 4. Average Sales are ¥ 4,50,000 p.a.,
Variable cost 1s 70% of Sales and Fixed Costs are ¥ 10,000
per annum. Carrying cost of inventory is 5% on average
inventory. Sales force complained that low inventory levels
are resulting in lost sales due to stock outs. The Sales
Manager has made an estimate based on stock-out reports

as under :
Inventory Policy Inventory Turnover Sales
Current 10 < 4,50,000
A 8 % 5,00,000
B 6 % 5,40,000
C 4 % 5,65,000

On the basis of the above estimates and assuming a 40%
tax rate and required return of 20% on investment in
inventory. Which policy would you recommend?
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